macro:->el, macro:->\mddefault \Q@empty

======DEFAULT \bfdefault: \long macro:->b\Qempty ======
A: TU/Imr/m/n. K: JY3/mc/el/n. H\>5 ABC NORMAL

A: TU/lmr/m/it. K: JY3/gt/l/n. &»\\> ABC EMPH

A: TU/Imss/m/n. K: JY3/mc/el/n. &5 ABC SF

A: TU/lmr/bx/n. K: JY3/mc/sb/n. HWV5 ABC BF

A

A: TU/lmr/bx/n. K: JY3/gt/k/n. WS ABC BF+GT
A: TU/lmr/m/n. K: JY3/gt/l/n. H\L' S ABC BF+GT+MD

A: TU/LMR/M/scsL. K: JY3/MC/EL/N. &\»5 ABC SC+IT
A: TU/lmr/b/n. K: JY3/mc/b/n. L5 ABC B
A: TU/Ilmr/bx/n. K: JY3/mc/bx/n. L5 ABC BX



A: TU/Ilmr/m/n. K: JY3/mc/el/n. H\»5 ABC NORMAL
A: TU/lmr/m/it. K: JY3/gt/l/n. &»\\> ABC EMPH

A: TU/Imss/m/n. K: JY3/mc/el/n. &5 ABC SF

A: TU/lmr/b/n. K: JY3/mc/b/n. L5 ABC BF

A: TU/lmr/m/n. K: JY3/gt/1/n. »Lv> ABC GT

A: TU/lmr/b/n. K: JY3/gt/b/n. W5 ABC BF+GT

A: TU/lmr/m/n. K: JY3/gt/l/n. L5 ABC BF+GT+MD

A: TU/LMR/M/ScSL. K: JY3/Mc/EL/N. 5 ABC SC+HIT
A: TU/lmr/b/n. K: JY3/mc/b/n. $\LV5 ABC B
A: TU/lmr/bx/n. K: JY3/mc/bx/n. L5 ABC BX



A: TU/Ilmr/m/n. K: JY3/mc/el/n. H\»5 ABC NORMAL
A: TU/lmr/m/it. K: JY3/gt/l/n. &»\\> ABC EMPH

A: TU/Imss/m/n. K: JY3/mc/el/n. &5 ABC SF

A: TU/lmr/bx/n. K: JY3/mc/bx/n. #LV5 ABC BF
A

A: TU/lmr/bx/n. K: JY3/gt/bx/n. W5 ABC BF+GT
A: TU/lmr/m/n. K: JY3/gt/l/n. L5 ABC BF+GT+MD

A: TU/LMR/M/ScSL. K: JY3/Mc/EL/N. 5 ABC SC+HIT
A: TU/lmr/b/n. K: JY3/mc/b/n. $\LV5 ABC B
A: TU/lmr/bx/n. K: JY3/mc/bx/n. L5 ABC BX



